Switch Statement Worksheet:  solve these problems, work in pairs
1. Convert the following switch() statement to if-then-else equivalents

       switch (areaCode)

           {

            case 313:

            case 248:

                 cout << “Your new area code is 123”;

            case 906:

                  cout << “No change in area code”;

            default:

                  cout << “Unknown MI area code”;

             }

2. Convert the following if-then-else statement to a switch statement:

if  (month==1 || month ==2)

     cout << “Winter”;

else if (month == 12)

     cout << “Could be fall or winter?”;

else if (month == 3)

     cout << “Could be winter or spring?”

else if (month ==4 || month ==5)

     cout << “Spring”;

else

     cout << “Season not determined yet”;

3. Is this switch() statement valid, why or why not?

switch (temp)

{

     case -212:

            cout << “Absolute Zero”;

            break;

     case 32:

            cout << “Freezing”;

            break;

      case 98.6:

            cout  << “Ideal body temp”;

 }

4. Is this entire switch statement valid? or which parts?
char x;

cin >> x;

switch (x)

     {

      case ‘A’:

            cout << “Uppercase”;

            break;

      case 32:

            cout << “Blank”;

            break;

      case ‘A’+32:

            cout << “Lowercase a”;

            break;

      case x+1:

            cout << “next letter”;

            continue;

      default:

     }

5. When is it NOT ok to rewrite if-then-else as a switch statement?

